# QUENCHING RATES FOR PARABOLIC PROBLEMS DUE TO A CONCENTRATED NONLINEAR SOURCE

H. T. LIU

Department of Applied Mathematics, Tatung University Taipei, Taiwan 104, Republic of China tliu@ttu.edu.tw

**ABSTRACT.** Let q, a, b, p and T be real numbers such that  $q \ge 0, a > 0, 0 < b < a, p > 0$ , and  $0 < T, D = (0, a), \Omega = D \times (0, T]$ . This article studies the following degenerate parabolic initial boundary value problem:

$$x^{q}u_{t} - u_{xx} = \delta(x - b)(1 - u(x, t))^{-p} \text{ in } \Omega,$$
$$u(x, 0) = 0 \text{ on } \bar{D}, u(0, t) = 0 = u(a, t) \text{ for } 0 < t \le T$$

where  $\delta(x)$  is the Dirac delta function. The growth rate of the solution u as  $u \to 1^-$  is established. AMS (MOS) Subject Classification. 35K60, 35B35, 35K55, 35K57

## 1. INTRODUCTION

Let q, a, b, p and T be real numbers such that  $q \ge 0$ , a > 0, 0 < b < a, p > 0, and 0 < T, D = (0, a),  $\Omega = D \times (0, T]$ . Let  $L_q u = x^q u_t - u_{xx}$ . This article studies the following degenerate parabolic initial boundary value problem:

(1.1) 
$$L_a u = \delta(x-b)(1-u(x,t))^{-p} \text{ in } \Omega,$$

(1.2) 
$$u(x,0) = 0 \text{ on } \bar{D}, u(0,t) = 0 = u(a,t) \text{ for } 0 < t \le T,$$

where  $\delta(x)$  is the Dirac delta function. These types of problems are motivated by applications in which the ignition of a combustible medium is accomplished through the use of either a heated wire or a pair of small electrodes to supply a large amount of energy to a very confined area. In particularly, when q = 0, it can be used to describe the temperature distribution on a rod with a concentrated nonlinear source at point b (cf. [6]). When q = 1, it may be used to describe the temperature u of the channel flow of a fluid with temperature dependent viscosity in the boundary layer

This work was partially supported by the Tatung University Research Grant under the contract B101-A01-026

(cf. [4, 5]). For the case q = 0, Deng and Roberts [12] studied the corresponding nonlinear Volterra equation at the site b in a finite domain (0, a):

$$u(b,t) = a^2 \int_0^t G(b,t;b,\tau) (1 - u(b,\tau))^{-p} d\tau,$$

where  $G(x, t; \xi, \tau)$  denotes the Green's function corresponding to the problem (1.1)–(1.2). They showed that there is a  $a^*$  such that for  $a \leq a^*$ , the solution u(b, t) of the integral equation exists for all time and is uniformly bounded away from 1. When  $a > a^*$ , there exists a finite time T such that  $\lim_{t\to T} u(b, t) = 1$ , and  $\lim_{t\to T} u_t(b, t) = \infty$ .

Chan and Jiang [6] investigated the solution u(x,t) of the problem (1.1)-(1.2). They showed that the problem has a unique continuous solution which satisfies (1.1)-(1.2), and  $u_{xx}(x,t) \ge 0$  for  $x \in (0,b)$  and  $x \in (b,a)$ . Also,  $u_t(b,t) = \infty$  for any t > 0.

For q = 0, the study of the problems when the singularity of the right-hand side of the equation (1.1) is replaced by  $(1 - u(x,t))^{-p}$  was initiated in 1975 by Kawarada [17], and since then, it has attracted much attention (cf. [5, 11]). Chan and Tragoonsirisak [9], and Chan and Treeyaprasert [10] studied the existence and quenching of the solution of a parabolic problem with a concentrated nonlinear source in an infinite strip and on a semi-infinite interval respectively. Chan [2], and Chan and Tragoonsirisak [8] investigated the quenching behavior of the solution in the multi-dimensional cases.

The rate of change of the solution when  $\max\{u(x,t) : x \in \overline{D}\} \to 1^-$  as  $t \to T$ were studies by Deng and Levine [13]. For  $q \ge 0$ , Yuen [20] studied the rate of change of the solution. When the right-hand side of the equation (1.1) is replaced by  $u^p(x,t)$ , the rate of change of the solution as  $u(x,t) \to \infty$  was studied by Fila and Hulshof [14], Guo [15], and Guo, Sasayama and Wang [16].

In this paper, a solution of the problem (1.1)-(1.2) is a continuous function which satisfies (1.1)-(1.2). The solution is said to quench if there is a T such that  $\max\{u(x,t): x \in \overline{D}\} \to 1^-$  as  $t \to T$ .

### 2. MAIN RESULTS

In this section, we consider the problem (1.1)–(1.2) for the case when q > 0. The Green's function  $G(x, t; \xi, \tau)$  corresponding to the problem (1.1) is determined by the following system:

$$L_q G = \delta(x - \xi)\delta(t - \tau),$$

with  $G(x,t;\xi,\tau) = 0$  for  $t < \tau$ , and  $G(0,t;\xi,\tau) = 0 = G(a,t;\xi,\tau)$ . By Chan and Chan [3], we have

$$G(x,t;\xi,\tau) = \sum_{n=1}^{\infty} \phi_n(x)\phi_n(\xi)e^{-\lambda_n(t-\tau)},$$

where  $\lambda_n$  (n = 1, 2, ...) are the eigenvalues of the problem

$$\phi'' + \lambda x^q \phi = 0, \quad \phi(0) = 0 = \phi(a),$$

and their corresponding eigenfunctions are given by

$$\phi_n(x) = (q+2)^{1/2} x^{1/2} \frac{J_{\frac{1}{q+2}}\left(\frac{2\lambda_n^{1/2}}{q+2}x^{(q+2)/2}\right)}{\left|J_{1+\frac{1}{q+2}}\left(\frac{2\lambda_2^{1/2}}{q+2}\right)\right|}$$

where  $J_{1/(q+2)}$  is the Bessel function of the first kind of order 1/(q+2). The eigenvalues satisfies  $0 < \lambda_1 < \lambda_2 < \cdots < \lambda_n < \lambda_{n+1} < \cdots$ ,  $\lambda_n \approx O(n^2)$ , and the set  $\{\phi_n(x)\}$  is a maximal orthonormal set with the weight function  $x^q$  (cf. [18, p. 506]).

By using the Green's function  $G(x,t;\xi,\tau)$ , the solution u(x,t) of the problem (1.1)–(1.2) is given as

$$u(x,t) = \frac{2}{a} \int_0^t \sum_{n=1}^\infty \phi_n(x) \phi_n(b) e^{-\lambda_n(t-\tau)} (1 - u(b,\tau))^{-p} d\tau,$$

for 0 < t. The solution u(x,t) can be shown to be unique, continuous, increasing with respect to t in  $\Omega$ . Furthermore, u(x,t) satisfies the problem (1.1)–(1.2). Also there is a positive real number  $a^*$  such that for  $a > a^*$ , the solution u(x,t) quenches in a finite T, and b is the only quenching point (cf. [6]). Chan and Tian [7] shows that there is a positive constant k such that  $|\phi_n(x)| \leq kx^{-q/4}$  for  $x \in D$ .

**Theorem 2.1.** If the solution u(x,t) of the problem (1.1) quenches in a finite time T at  $x = b \in D$ , then there exist two positive numbers  $C_1$  and  $C_2$  such that  $\lim_{t \to T} (1 - u(b,t))(T-t)^{-1/(p+1)} = C_1$ , and  $\overline{\lim_{t \to T}}(1 - u(b,t))(T-t)^{-1/(p+1)} = C_2$ .

*Proof.* Firstly, let us determine a lower bound of (1 - u(x, t)) when t is close to T. Since  $u(b, t) \to 1$  as  $t \to T$  and u(x, t) is continuous, we have

$$\frac{2}{a} \int_0^T \sum_{n=1}^\infty \left(\phi_n(b)\right)^2 e^{-\lambda_n(T-\tau)} (1 - u(b,\tau))^{-p} d\tau = 1.$$

By a direct computation, we have

$$\begin{split} 1 - u(b,t) &= \frac{2}{a} \sum_{n=1}^{\infty} \left( \phi_n(b) \right)^2 \left( \int_0^T e^{-\lambda_n (T-\tau)} (1 - u(b,\tau))^{-p} d\tau \right. \\ &\quad - \int_0^t e^{-\lambda_n (t-\tau)} (1 - u(b,\tau))^{-p} d\tau \right) \\ &= \frac{2}{a} \sum_{n=1}^{\infty} \left( \phi_n(b) \right)^2 \left[ \int_0^t \left( e^{-\lambda_n (T-\tau)} - e^{-\lambda_n (t-\tau)} \right) (1 - u(b,\tau))^{-p} d\tau \right. \\ &\quad + \int_t^T e^{-\lambda_n (T-\tau)} (1 - u(b,\tau))^{-p} d\tau \right] \\ &\geq \frac{2}{a} \sum_{n=1}^{\infty} \left( \phi_n(b) \right)^2 (1 - u(b,t))^{-p} \left[ \int_0^t \left( e^{-\lambda_n (T-\tau)} - e^{-\lambda_n (t-\tau)} \right) d\tau \right. \\ &\quad + \int_t^T e^{-\lambda_n (T-\tau)} d\tau \right] \\ &= \frac{2}{a} \sum_{n=1}^{\infty} \left( \phi_n(b) \right)^2 (1 - u(b,t))^{-p} \left[ \frac{1}{\lambda_n} \left( e^{-\lambda_n t} - e^{-\lambda_n T} \right) \right]. \end{split}$$

It follows from the Mean Value Theorem that there is a  $\eta$  satisfying  $t < \eta < T$ , such that  $e^{-\lambda_n t} - e^{-\lambda_n T} = \lambda_n e^{-\lambda_n \eta} (T - t)$ . Then we obtain

$$1 - u(b,t) \ge \left(\frac{2}{a} \sum_{n=1}^{\infty} (\phi_n(b))^2 e^{-\lambda_n T}\right) (T-t)(1 - u(b,t))^{-p}.$$

Since  $|\phi_n(b)| \leq k b^{-q/4}$  for some constant k > 0, the series  $\sum_{n=1}^{\infty} (\phi_n(b))^2 e^{-\lambda_n T}$  converges. Thus, there is  $K_1 > 0$  such that

(2.1) 
$$(1 - u(b, t))^{p+1} \ge K_1(T - t)$$

for any 0 < t < T. This gives  $\lim_{t \to T} (1 - u(b, t))(T - t)^{-1/(p+1)} = C_1$ , for some positive constant  $C_1$ .

For the upper bound, we consider

$$\begin{split} 1 - u(b,t) &= \frac{2}{a} \sum_{n=1}^{\infty} (\phi_n(b))^2 \left( \int_0^T e^{-\lambda_n(T-\tau)} (1 - u(b,\tau))^{-p} d\tau \right. \\ &- \int_0^t e^{-\lambda_n(t-\tau)} (1 - u(b,\tau))^{-p} d\tau \right) \\ &= \frac{2}{a} \sum_{n=1}^{\infty} (\phi_n(b))^2 \left[ \int_0^t \left( e^{-\lambda_n(T-\tau)} - e^{-\lambda_n(t-\tau)} \right) (1 - u(b,\tau))^{-p} d\tau \right. \\ &+ \int_t^T e^{-\lambda_n(T-\tau)} (1 - u(b,\tau))^{-p} d\tau \right]. \end{split}$$

It follows from the Mean Value Theorem that there is a  $\rho$  satisfying  $t < \rho < T$  such that

$$\int_{0}^{t} \left( e^{-\lambda_{n}(T-\tau)} - e^{-\lambda_{n}(t-\tau)} \right) (1 - u(b,\tau))^{-p} d\tau = -\lambda_{n} e^{-\lambda_{n}\rho} (T-t) \int_{0}^{t} (1 - u(b,\tau))^{-p} d\tau.$$

On the other hand, by use of the inequality (2.1), we have

(2.2) 
$$\int_{t}^{T} e^{-\lambda_{n}(T-\tau)} (1-u(b,\tau))^{-p} d\tau \leq K_{1}^{-p/(p+1)} \int_{t}^{T} e^{-\lambda_{n}(T-\tau)} (T-\tau)^{-p/(p+1)} d\tau.$$

By using the substitution  $s = T - \tau$ , the integral on the right-hand side of the above inequality becomes

$$\int_{0}^{T-t} e^{-\lambda_n s} s^{-p/(p+1)} ds = (p+1)(T-t)^{-p/[2(p+1)]} (\lambda_n)^{-1+p/[2(p+1)]} \times e^{-(1/2)\lambda_n(T-t)} M\left(-\frac{p}{2(p+1)}, -\frac{p}{2(p+1)} + \frac{1}{2}, \lambda_n(T-t)\right),$$

where M(k, m, z) is the Whittaker function (cf. [19]). The Whittaker function can be rewritten in terms of confluent hypergeometric function as

$$M(k,m,z) = z^{m+\frac{1}{2}}e^{-\frac{z}{2}}\Phi\left(m-k+\frac{1}{2},2m+1,z\right),$$

where  $\Phi(\alpha, \gamma, z)$  is the confluent hypergeometric function. Note that the hypergeometric function  $\Phi$  has a Kummer series expansion

$$\Phi(\alpha,\gamma,z) = 1 + \frac{\alpha}{\gamma}z + \frac{\alpha(\alpha+1)}{\gamma(\gamma+1)2!}z^2 + \cdots,$$

which shows that this function is entire for any z. Then, we get

$$M\left(-\frac{p}{2(p+1)}, -\frac{p}{2(p+1)} + \frac{1}{2}, \lambda_n(T-t)\right)$$
  
=  $[\lambda_n(T-t)]^{1-\frac{p}{2(p+1)}} e^{-(1/2)\lambda_n(T-t)} \Phi\left(1, 1 + \frac{1}{p+1}, \lambda_n(T-t)\right).$ 

By putting the Whittaker function back into the estimation (2.2), we obtain

$$\int_{t}^{T} e^{-\lambda_{n}(T-\tau)} (1-u(b,\tau))^{-p} d\tau$$

$$\leq K_{1}^{-p/(p+1)} (p+1)(T-t)^{1/(p+1)} e^{-\lambda_{n}(T-t)} \Phi\left(1, 1+\frac{1}{p+1}, \lambda_{n}(T-t)\right).$$

For  $0 < t_0 < T$ , since  $e^{-\lambda_n(T-t)}\Phi(1, 1+1/(p+1), \lambda_n(T-t))$  is continuous and is decreasing on [0, T], there is M > 0 such that for any  $t_0 \leq t_1 \leq t_2 \leq T$ , we have

$$\left| e^{-\lambda_n (T-t_1)} \Phi\left( 1, 1 + \frac{1}{p+1}, \lambda_n (T-t_1) \right) - e^{-\lambda_n (T-t_2)} \Phi\left( 1, 1 + \frac{1}{p+1}, \lambda_n (T-t_2) \right) \right|$$
  
 
$$\leq M \left| e^{-\lambda_n (T-t_0)} \Phi\left( 1, 1 + \frac{1}{p+1}, \lambda_n (T-t_0) \right) \right|.$$

Thus, for any  $t_0 \leq t \leq T$ , we get

$$\left| e^{-\lambda_n(T-t)} \Phi\left(1, 1 + \frac{1}{p+1}, \lambda_n(T-t)\right) \right|$$
  

$$\leq (M+1) \left| e^{-\lambda_n(T-t_0)} \Phi\left(1, 1 + \frac{1}{p+1}, \lambda_n(T-t_0)\right) \right|$$

Since  $\lambda_n e^{-\lambda_n (T-t_0)} \Phi(1, 1+1/(p+1), \lambda_n (T-t_0)) \to 0$  as  $n \to \infty$ , there exists  $K_2 > 0$  such that

$$K_1^{-p/(p+1)}(p+1)\lambda_n e^{-\lambda_n(T-t)}\Phi\left(1,1+\frac{1}{p+1},\lambda_n(T-t)\right) \le K_2.$$

This gives

$$\begin{split} &\int_{0}^{t} \left( e^{-\lambda_{n}(T-\tau)} - e^{-\lambda_{n}(t-\tau)} \right) (1-u(b,\tau))^{-p} d\tau \\ &+ \int_{t}^{T} e^{-\lambda_{n}(T-\tau)} (1-u(b,\tau))^{-p} d\tau \\ &\leq -\lambda_{n} e^{-\lambda_{n}\rho} (T-t) \int_{0}^{t} (1-u(b,\tau))^{-p} d\tau \\ &+ K_{1}^{-p/(p+1)} (p+1) (T-t)^{1/(p+1)} e^{-\lambda_{n}(T-t)} \Phi \left( 1, 1 + \frac{1}{p+1}, \lambda_{n}(T-t) \right) \\ &\leq \frac{K_{2}}{\lambda_{n}} (T-t)^{1/p+1}. \end{split}$$

Thus,

$$1 - u(b,t) \le \frac{2K_2}{a}(T-t)^{1/p+1} \sum_{n=1}^{\infty} (\phi_n(b))^2 \frac{1}{\lambda_n}.$$

Since  $\sum_{n=1}^{\infty} (\phi_n(b))^2 \frac{1}{\lambda_n}$  converges, we have  $1 - u(b,t) \leq K_3(T-t)^{1/p+1}$  for some  $K_3 > 0$ . This shows that  $\overline{\lim_{t \to T}} (1 - u(b,t))(T-t)^{-1/(p+1)} = C_2$ .

When q = 0, the operator  $L_0$  in the problem (1.1) becomes  $L_0 u = u_t - u_{xx}$  which is the heat operator, and its corresponding Green's function on  $\Omega$  is given as (cf. [1])

$$G(x,t;\xi,\tau) = \frac{2H(t-\tau)}{a} \sum_{n=1}^{\infty} \sin\frac{n\pi x}{a} \sin\frac{n\pi\xi}{a} e^{-\left(\frac{n\pi}{a}\right)^2(t-\tau)},$$

where  $H(t - \tau)$  is the Heaviside function. The representation form of the solution u(x, t) of the problem (1.1)–(1.2) is given as

$$u(x,t) = \frac{2}{a} \int_0^t \sum_{n=1}^\infty \sin \frac{n\pi x}{a} \sin \frac{n\pi b}{a} e^{-\left(\frac{n\pi}{a}\right)^2 (t-\tau)} (1 - u(b,\tau))^{-p} d\tau,$$

for 0 < t. The solution u(x,t) can be shown to be unique, continuous, increasing with respect to time t in  $\Omega$ . Furthermore, u(x,t) satisfies the problem (1.1)–(1.2). Also there is a positive real number  $a^*$ , for  $a > a^*$ , the solution u(x,t) quenches in a finite T, and b is the only quenching point. Since  $|\sin \frac{n\pi b}{a}| \le 1$ , the series  $\sum_{n=1}^{\infty} (\sin \frac{n\pi b}{a})^2 \frac{1}{(\frac{n\pi}{a})^2}$ converges. It follows from a similar argument as in the proof of the Theorem 2.1 that the quenching rate can be estimated to obtain the following result.

#### QUENCHING RATES

**Corollary 2.2.** For q = 0, if the solution u(x,t) of the problem (1.1) quenches in a finite time T at x = b, then there exist two positive numbers  $C_3$  and  $C_4$  such that  $\lim_{t \to T} (1 - u(b,t))(T-t)^{-1/(p+1)} = C_3$ , and  $\overline{\lim_{t \to T}} (1 - u(b,t))(T-t)^{-1/(p+1)} = C_4$ .

### REFERENCES

- J. R. Cannon, The One Dimensional Heat Equation, Encyclopedia of Mathematics and Its Applications 23 (1st ed.), Addison-Wesley Publishing Company/Cambridge University Press 1984.
- [2] C. Y. Chan, A quenching criterion for a multi-dimensional parabolic problem due to a concentrated nonlinear source, J. Comput. Appl. Math. 235 (2011), 3724–3727.
- [3] C. Y. Chan and W. Y. Chan, Existence of classical solutions for degenerate semilinear parabolic problems, Appl. Math. Comput. 101 (1999), 125–149.
- [4] C. Y. Chan and H. T. Liu, Global existence of solutions for degenerate semilinear parabolic problems, Nonlinear Anal. 34 (1998), 617–628.
- [5] C. Y. Chan and P. C. Kong, A thermal explosion model, Appl. Math. Comput. 71 (1995), 201–210.
- [6] C. Y. Chan and X. O. Jiang, Quenching for a degenerate parabolic problem due to a concentrated nonlinear source, Quart. Appl. Math. 62 (2004), 553–568.
- [7] C. Y. Chan and H. Y. Tian, Single-point blow-up for a degenerate parabolic problem due to a concentrated nonlinear source, Quart. Appl. Math. 61 (2003), 363–385.
- [9] C. Y. Chan and P. Tragoonsirisak, A quenching problem due to a concentrated nonlinear source in an infinite strip, Dynam. Systems Appl. 20 (2011), 505–518.
- [10] C. Y. Chan and T. Treeyaprasert, Quenching for a parabolic problem due to a concentrated nonlinear source on a semi-infinite interval, Dynam. Systems Appl. 18 (2009), 55–62.
- [11] Q. Dai and X. Zeng, The quenching phenomena for the Cauchy problem of semilinear parabolic equations, J. Differential Equations 175 (2001), 163–174.
- [12] K. Deng and C. A. Roberts, Quenching for a diffusive equation with a concentrated singularity, Differential Integral Equaitons 10 (1997), 369–379.
- [13] K. Deng and H. A. Levine, On the blowup of  $u_t$  at quenching, Proc. Amer. Math. Soc. 106 (1989), 1049–1056.
- [14] M. Fila and J. Hulshof, A note on the quenching rate, Proc. Amer. Math. Soc. 112 (1991), 473–477.
- [15] J. S. Guo, On the quenching rate estimate, Quart. Appl. Math. 49 (1991), 747–752.
- [16] J. S. Guo, S. Sasayama, and C-J Wang, Blow-up rate estimate for a system of semilinear parabolic equations, Comm. Pure Appl. Anal. 8 (2009), 711–718.
- [17] H. Kawarada, On solutions of initial-boundary value roblem for  $u_t = u_{xx} + \frac{1}{1-u}$ , Publ. Res. Inst. Math. Sci. 10 (1975), pp. 729–736.
- [18] G. N. Watson, A Treatise on the Theory of Bessel Funcitons, 2nd Ed., Cambridge University Press, New York, NY 1958.
- [19] E. T. Whittaker and G. N. Watson, A Course of Modern Analysis, Cambridge Univ. Press 1952.
- [20] S. I. Yuen, Quenching rates for degenerate semilinear parabolic equations, Dynam. Systems Appl. 6 (1997), 139–151.